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Note: You have four choices for each objective type question as A,B,CandD. The choice -;{):;J"}';-.:«ihr
which you think is correct, fill that pubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve guestions on this sheet of OBJ ECTIVE PAPER.

Q.No.1 A Ay
(1) The time period of vibrating mass spring system, when it -:E.ng;,f N Cuik ,@E‘EK_&,’JL.@: Ay (1
mass become doubled:- _
(A) Remain same fo ekl (B) Become half €2 bsxi»T (C)Increased ¢ oy (D) Decreased gL lonf
(2) The speed of Sound is greater in-- : -c‘-uyé:d’}l,-f (2
(A) Water J (B) Air It (C) Metal, U (D) Vacuum 25>

& el i 07 e Gyilatom < HES S gL N em 2 &«
(3) Anobjectis placed at a distance 30 cm from a concave lehs. Its imAge forms at 10 ¢m from lens.
The magnification of lens is- '

A X (8) 3 (C) 10 (D) 15
(4) The magnifying power of simple microscope is:- - [Sr..-;g..‘;’ wt’/ J_?.ﬁ)?kuv {
So Je d ) > A
i By C)1-—= Dy ¥
()fe (}fo (C) 7 (}_.,-‘f .
(5) The correct relation for Coulomb's Force is:- _g,_ﬁ?yné_iwﬁ.,)f
_ 392 192 1 9192 1 q192
™' S B) F = K= C)F==292 D) F =292
- (B) 3 ) e (D) X 2
" # £
(8) 1f 0.5 C charge pass through a wire in 10's, -(._p.g:c/'f bt 2yi 108 L 05C SAL
then will be the value of current flowing through the wire.
(A)0.05A (B)O5A (C)5A (D)20A
(7) 1f we doubled the length of mettalic wire while -é;z J"’J;Ju’l;umj sl 2 S di_.JJ;b\.U’ l:-r"ﬂ
other factors remain same, then its resistance will be:-
(A) Half &1 © (B) Doubled t% (C) Quaduuple §%; (D) Remain same Sudt s
®) partof D.C. motor reverses S r)’;,ngyJ_u/dm;;u:JuﬁLf Vsl Kl

the direction of current flowing the coil every half cycle.
(A) The commutator ‘/:,»f (B) The brushes 4 (C)Slips rings ;J.?Jf (D) The armature ,{ il

(9) Ifametalis heated to high temperature, it emits the particles:- -qglntwiéd;{’:g?q ;?/’j;a;l];mﬂﬁ_gﬂ
(A) Protons 3 (B) Neutrons 55 (C) Electrons 529 (D) Positive ions 7T
(10) Which of the gate is used to convert one logic level into -g.‘ff;,{ Y T ﬂ.{f:f bof
opposite logic level? (A) NOT gate .*,_Jf:«':
(B) AND gate %! (C)OR gate /7 (D) Both AND and OR gate Ut &)
(1) In Computer Terminology, Information means:- ‘laqbi!cfiﬁla?ld g}-:‘lz,f'}g;‘/
(A) Any data t‘;id@f (B) Raw data G376 (C) Large data il (D) Processed data Giday
(12) The Isotopes of lodine 131 is used in the treatment of.- e b Ll 131 Al
(A) Blood Cancer ¥u (8) Bone Cancer A §Uik
() Lungs Cancer A ¥unett (D) Thyroid Cancer 4%
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NOTE: - Write same question number _g_.&,»ﬁg_.,_;,girfﬁg,‘:’ s it ir G 36312 Y

and its part number on answer book, as given in the question paper.
SECTION-I | Jsl.a?

2- Attempt any five parts. 10=2x5 -"‘éjﬂﬁfayrﬁﬂziég@&f 2401
(i)  State Hooke's Law and write its equation. B A LU YT €8 ()
(i)  How time period of a Simple Pendulum can be determined? Setelp L afeetin (i)
(i) Whatis Reciprocal of Time Period? Define it LS e skiste i)
(iv) What is meant by SONAR? copfe sty (V)
(v)  Which equation is used to find the Speed of Sound? ?«.;_J@JJP‘I&I:L}JQI__Af..i../?}”)}:b(}iﬁ (v)
(vi) What is the difference between Generator and Motor? i S JASA a2 (V)
(vii) What is Transformer? Wite its types. ..L,[;Z‘fru”lJJ 1 S il (vii)
(viii) What is the function of Split Rings in a D.C motor? e s ety i)
3- Attempt any five parts. 10 =2x5 ,égjag!gilziégc.df 234
(i) Differentiate between Angle of Incident and Angle of Reflection. - f;)g.‘j 94 u’gi._jfﬁl;:lvf" R;J'I_:'T‘_,fif-r (i}
(i)  What is the Refractive Index of Ice and Water? _?‘LL_)’J-K;%#}{ZK&EJJFJA (it}
(iiiy  Define the terms Resolving Power and Magnifying Power. -J /u:ff&;gj [ '-»J»&J}'P{J (i)
(iv) What is meant by Fax Machine? e e Ut (W)
(v)  What is meant by the term "Word Processing" and "Data Managing"? Sl Yaur UbﬂJJ_ﬁff [ 3»1_.@:,; ;J;' (V)
(vi)  Write names of four input devices of Computer. - (tf...:!}ﬂi;d:._*.;ul,-j/’aﬁ (vi)
(vii) Write two characteristics of Beta Radiation. -ufagyﬁ;;:Jﬁiner (vii)
(viil) \What is meant by Artificial Radioactivity? Seie AL (i)
4- Attempt any five parts. 10=2x5 -éﬁ;plgilmég@df 4/
()  Define Fixed Capacitor. Give one example. et LIS
(i)  Write two uses of Capacitors. / . _u:’{-,ut&ifj / (i)
(i) What is meant by Capacitance of Capacitor? -u‘-"{-@/‘U_‘r’g.ﬂ_’.uﬂr e U A i
Define unit of Capacitance.
(v) Define Electromotive Force. _E S ()
(v)  Whatis Voltmeter? e e (V)
(vi) Define Ohm. -5‘,’-.’ ] /Jb((;,, (vi)
(vii) What is OR gate? Wite its Truth Table. A ST (i
(vill) Write two uses of Logic gates. vl A g (i)
SECTION-Il (5.2 )
NOTE: - Attempt any two questions.  18=9x2 S fe il e &f e d
5.(A) What is meant by Nearsightedness and PRI RV Ve Va T e §ERS ) (-5

Farsightedness? How can these defects be corrected?

5 en =5 Sedaslidpee i sSnfliiatibo ¢ 2s bafeihiol ()
ge = 10ms 2 B
(B) The time period of a simple pendulum is 2 s. What will be its length on the earth? What will be its length
on the moon? If g, =&/ where g, =10ms™

5 _Zebuns§tipdsi sty s 450V u&};ﬁuwi -,;’—’%Jw/ﬁ - 100 F o 5’( dealzd (L)
(B) The capacitance of a parallel plate capacitor is 100u#. Ifthe potential difference between its plates is
50 volts, find the quantity of charge stored on each plate.
4 ?c‘-rg;u[,;(:-?.g_éj:fg_,’l_»'_@?pa_:gJ,I;?J;er,ugg(fofd’;;,/’-?s_,afu:/yu,am{;lfy;,,-vhg (-7
7.(A) Describe using simple diagrams what happens when a narrow beam of elections passes through uniform
electric field and uniform magnetic field?
5 BT L enff L s 1.0 i 5730 SIS 140 ()
(B) Carbon-14 has a half life of 5730 years. How long it will take for the quantity of Carbon-14 in a sample to
drop to one-eighth of the initial quantity.

6.(A) Discuss the main features of series combination of resistors. 4 _c_:ful_a:,g:ﬂ"ﬂ&;/bébjﬁc_a,)zg (.6
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Note: You have four choices for each objective type question as A, B, C and D. The choice -U )ﬁ:d’?}h—,uw
which you think is correct, fill that bubb-le in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbtes will result In zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit wiil be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

A Ay

(1) The out put of NAND gate is 0 when:- -:.?:-'fn)“qh:.ifgf.:.fia (NAND) (1)
(A) A=0, B=0 (B) A=1, B=1 (C)A=1,B=0 (D) A=0Q, B=1

(2) In Computer Terminology, Information means:- SPE .,,WKJ{:G}M tf-ﬂtgf'f::{ (2)
(A) Any data 38 (B)RAWdata kit (C) Processed data 34z, (D) Large data ntJ

(3) One of the isotopes of Uranium is 338/ AL o 5%80" T:’H’Lﬁb’r{“ug (3)

The number of Neutrons in this isotope is:-

(A) 92 (B) 146 (©) 238 (D) 330

(4) The relation between v . f and A ofawaveis:- ﬂq_JJ'J uyx:.f.i%mlf";f/' WSSt (4)
(A) vy =% (B) Ay =v (Cy vh = f (D)v=—}

(5) Speed of sound at 25°C in Flint glass is:- eyl 25°C SV (9)
(A) 5950 m/s (B) 6040 m/s (C) 5960 m/s (D) 3980 m/s

(6) Refractive Index of Air is:- e ©)
(A) 1.36 (B) 1.00 (C)1.31 (D)1.33

(7) The Index of Refraction depends on:- et ;*uﬁKuig);JTu( Xl (N
(A) The focal length ¢ 5%5? (B) The speed of light 4+ $G%
(C) The image distance £io6LE! (D) The object distance 446

(8) The equation of Electric Field Intensity is:- el st @
{A)E:% (B) %=% © F=L (D)E=f-

9o 4o

(9) Specific resistance of Graphite is:- _?Jﬂﬁx.ﬁ:{o{wf@f (9)
(A)3500 x 1078Qm  (B) 100 x 1078Qm ©) 9.8x108Qm  (0)10.6x1078Qm

(10) The power of small fan is:- dq_fimswlé___é_;%’ (10)
(A) 100 watts (B) 750 watts {C) 50 watts (D) 10 watts

(11) ____ partofaD.C. motor -;.u,fdgfy&y/uq';ﬁVdJ?yGﬂ.LJ,’/’vaﬁf,,w ____gw»DC (1)

reverses the direction of current through the coil after every energy half-cycle.

(A) The armature 47 (B) The commutator /’f:f (C) The brushes 7 (D) The slip rings /f::}

(12) If X = A4-B, then X is 1when:- St X Jx=4B/ (12
(A) A=1, B=1 (B) A=0, B=0 (C) A=0, B=1 (D) A=1, B=0
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NOTE: - Write same question number .,.:'_.Z'-,JJJ%.,;‘Jfrfﬁéﬁ'w/:ﬁz;s!/{Jiyﬁ;{Q iz s
and its part number on answer book, as given in the question paper.
SECTION-I Jil.o
2- Attempt any five parts. 10=2x5 'éxf._,L!f'ch]iCLc_g}y ‘Z/Jfr
(i)  Electromagnetic waves do not require any e S dn e, f‘Jr‘M.{_Z.JLAJIﬂhv@g‘/a! (i)
medium for their propagation. Why? Give reason.
(i)  What do you know about "Ripple Tank"? "u'?“a-.l;lf {)-':a_-fici-c‘dl (ii)
(i)  How does crest and trough are produced in a water wave? ?L;*Z.:fw.__’),sfb/fdgs.f J dL (iii}
(iv)  What is the relation between Freguency and Pitch? ?q-ub' UEE o U 3( /()
(v)  Write two uses of Ultrasound in Medical field. éx/‘_uwméiswjvufm_ {J)V Jr (V)
(vi) How the direction of magnetic lines field are determined q_u L:‘Jc{ u‘p by /ﬂﬂ.@?ud;b,w._x/&y {vi)
in current caring straight wire? .
(vii) Write down two ways to increase the magnetic force. _4,‘.112‘__ )»LLL»A’J;L@}V (vif)
(viii) What is the function of "Relay"? <8V KL (il
3. Attempt any five parts. 10=2x5 _L./f._iwéliféb:;df S/JIf
(i) State the Laws of Reflection of Light. -q‘{ uh}l Sl F)’&.{fu (i}
(i)  Define Power of Lens and write its unit. q‘l‘g LA sl J/"J/J STl (i)
(i) How Farsightedness defect can be corrected? S (P ined SPL S i
(iv)  What is meant by Cell Phone? °¢'—J‘/‘f¢~~) (v
(v}  Write down two advantages of E-mail. 45{ 1 J’ B ()
(vi)  Define Super Computer. ‘-—“th{/-vf' (i)
(viil) How can you define Natural Radioactivity? s Sy Pl 'Jg,ir* Wi g (vii)
(viiy What is meant by Cosmic Radiations? T Af.:. FASELE (Vi)
4- Attempt any five parts. 10=2x5 —éffl—»“?&lffébﬁ-d!( 44
(i)  Define Electrostatic Induction. ey _.n*/"‘dpf);'-t&*‘s/ﬂ O
(i)  Define Electric Potential and also write its S.I unit. 406“.»' S.1 KU ;IJ/.,.c f’JJ”"’:‘J/ﬂF (i)
(iiiy  What is meant by Capacitance of the Capacitor? SISy SILUE SestpVa i s S i
Also define its S.1 unit.
(iv)  Write a short note on Conventional Current. qf—’u < f/":fuJ P )
(v)  How Potential difference across a BV IR TR AR T Ve /’u)a.-r)f{, L i ()
circuit component can be measured? Draw a diagram also.
(vi) What is the difference between Ohmic and Non-Chmic material? -«_‘.’doiﬁlﬂ' e QAL KLt et (Vi)

Give examples also,

(vii) What is the difference between Analogue and Digital Electronics? A e e/ VRSSO F St (i
Give examples also.

{viii) Draw a symbol of NOT gate and also write its Truth Table. -g{/g’;&.:i;delefuf Lertbfe et (NOT)  (viii)

SECTION-Il 1.

‘NOTE: - Attempt any two questions. 18=9x2 -égfaglﬁﬁ .:,wn_;a.d)/ Y
5.(A) What is Total Internal Reflection? 4 ..J_)::#Lb;;.;‘b@ﬁ;_.; ?;,;J/y’au"gﬁvﬁmfﬂ (Ln.E

Explain with Ray diagram.
5 el g (L6hk ¢ 495 Lathis e tel ik e 0.99m WS Pl (L)
(B) A pendulum of length 0.99 m is taken to the moon by an astronut. The period of the pendulum is 4.9 s.
What is the value of "g" on the surface of the Moon?

6.(A) Determine the equivalent resistance of 4 -éfk’ﬂdﬁ/&?};é; J_ec..é‘._./"&;e (A€
parallel combination of resistors.
5 ~elile 16x 10 % {G.J;?Ag,;,,b;l&g,gs’ms,;ﬁoo e (_—,;gbﬁws@g;ﬁfﬁg ()

(B) The charge of how many negatively charged panic!es would be equal to 100pC
Assume charge on one negative particle is 1.6 x 10719¢C .
7.(A) What is NAND gate? Draw its symbol and write its truth table. 4 . bu’“*x‘sm!../mfu’ ﬁ;.g..f % (NAND) (D27
-../du./!g 23 _.m_-fﬂ’udu” ..cf:()""’u..-‘s -o.’.‘..x./d-..-—ﬂ:b/ 368 2ozt F/UU. gt 10 i3 J.—-'CL'!" [‘!_Uza.f (....)
(B) Half life of a radioactive element is 10 minutes. If the initial count rate is 368 count per minute, 5 &b«
find the time by which count rate reaches 23 counts per minutes.
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